Gl 7 Grergy, — an (Popoct-nt melhod

s /u\ a/aS‘SI(‘J WVZ‘HM

— a pperep o
a_,/hfa“?ﬁ e

@ Tepne K =gmr®
The CIK_,’_’?-‘2U§='-U’WQ=F'£¥
e 2

'
(dE u = 4K =[Fx# - fE

Ak = [pdc =W

» 0 (plitdeot)
wmﬂwﬂﬂ“gv()(

(b) If F b o o
Ux)=— | F&®
‘tg F =5 -—-'.3!-5-’4 OY/ X ie_;mc%wnﬁx;i
o F= "W%Sdz»a&wr-s‘i
= dU = — AU
S, Ak—f_--;(-;alﬂ

AK 3+ AU = O
K3 U = coshat, Te eegy,



The  @5Cepe %;1; é,,ﬂ;_ Ents,

L“—’ Hidmamiin w/(oa; st éjcéf'
z hael ESCoe SarffS 7:%1;%‘

%/' . . /" ,-"(
far& / :*

Ehﬁ*’?} v Crms-eypc/,

= y
2 GMn
I"’"/’AJ emdibns . E = S.L‘"U; - R
2
L#'Juf.‘?f V— 00 , E = =mUg

g%‘ﬂ-fse f’»m. Sartl s ?Nzh-"q_ ijm}e/ Uy 7O -
l—.e.) E >z o.

GM
zeke e ame > WAVR

2 i 74 é‘lxto":
l)-ex.“‘ e \/""7-2_3"‘ - '23)1-"» JE*IO?,- :
1.2 <10 wls
= (L2 lw/s

1



ot ' dt
'D‘Fl}-e P=b+h
WP s = s
’)7‘“ 2 l’LFL = F?}f}&-[——‘}' 'F;)e,f_

__; )
737 Nw“t'mfs 3‘:2( fau/ F'pg_ + FZ( = O,

.rf #e Q,(Mnﬂ &wa.; arve 0}
Hon 2o tdad saewechon b onsfeaft,

At RRET F:”/ oferad T Fe“"”‘ A

r_fb [w!trmﬁ chcz; CMCJ n pu'r‘rh

o = Fay Pore M5 purhe alons.




#VES

Homework Set D

Number of Students able To Solwe

10

& i

1 B 11 16 17
Problem MNumber



& ylo)=o

2-42 (1) f‘"‘!“{‘ e B
g:Ej‘ Llpinl
Dni kel Cerolch'yos
X A = --{-f',—
)= Efp ¢ Jlo=A
o Prc

o E"f.‘.,ef\w-s -3 Hh'Ag“ : L 33.5’

e ;
Tles< ave Miicar /fa»&wmo?eren-e ﬁ-ﬁw“"*‘s‘-
A pw".l\Zﬂ‘{ﬁ‘?' Shban o x = E'/B and g‘ = 6,

A‘M%ﬂ“\

= —35’9} +§E

F"’ 3{54'[)')(3) 3_0-3 ‘Z o (‘55- _gL;B-)J

He homogecors guatins (e=o),

Aa«ﬁ;,%‘;&r bR m‘,(.s! lewbibin, 5 yf)=o0 a.,/;g/}:o

p

X) = C tswt acd 78 = =G ShOE el =18
po?
The JqZF&nJ.J ?Mk-s A%re Gz=—-C.}_
The ol contlodims X(lo)= —Alw o] Cf'“)'* A
”‘E"‘:r‘ C = — Ay and = Al P
: ResSOLT xXe) = — st + £+
P T I A_ w B
st X ) T wret Tt ’g' ¢ . Y= A puiot
j“—) 2 % Sur WE. G“G’&s S'Arm'g 2 x(€) frf‘
@) A<tlh i) A= &g () A2
’VT . . ) C*J A< l?/ﬂ
¥ 4 | {A) A=E/&

_4/*'\ /f'\/'\/
¥ YooY
| : amgl 1@.}4”—/}?

mw ave v TROCHOID cyrves.




Siuh e Koy

PHY 321 Quiz C June 9, 2009

1. A particle of mass m moves along a straight line in a resistive medium; the
resistive force is ~yv where y is a constant and v is the velocity of the particle. The
initial velocity is vo. Determine the distance D that the particle will travel while the

resistance brings it to rest.

HINT: By Newton’s second law, m dv/dt =—yv. Solve the differential equation for v.
Then x = /v dt.

2. Now suppose the particle in problem 1 is pulled by a constant force Fs in the
resistive medium. If the initial velocity is 0, what is the velocity v(t) as a function of
time? Sketch a graph of v versus t. :
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